MATH 141 HoMEWORK 10 DUE DATE: THURSDAY, JUNE 22ND

Moo, Solutions

This homework is due Thrsday, June 22nd during recitation. If yon have questions regarding any
of this, feel free to ask during office hours or send me an email. When wriling solutions. preseni
your answers clearly and neatly, showing euly necessary work.

1. Use the £-6 definition of a limit to find the following:
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2. Find the area of the shaded region helow:

)

a . 2
Q:j zx42dx = gX +23C')o
0

[ 4 12 _ 16
= -éf(?.)ﬁs—!rZ(?-) ’E(O?VZ@) = %4—5{— = T+ = T3
. 4
R=|s-txde — | m7ox
2l 2 '
/.
= B x|, - Z(x-2)"

A 2 2 -3/2 ) yz
= 5(6)- () =5() +L () - —:S_(q-z) +%(Z*Z)
=20 -4 -lo+] - $32' + 0O
= 7—%’_ =

_ 6 21  &JZ

A+3 = -|—§—+ /'%ff = xR T3
_ 37 -497
S /-7 c
3
37 - &2
Answer: 2
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3. Ewaluate the following limits:
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4. Two people on bikes are 350w apart. Person A starts riding north at a rate of 5u1/sec and T minutes later Person B
starts riding sonth at 3m/sec. At what rate is the distance separating the two people changing 25 minutes after Person

A starts riding?
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Find the maximal volune of the cone that can be inscribed inside a sphere of radius 3c¢tn, whose top point is the centre

of the sphere. 2 T _ hl
Tt ST =y (220

[=1]

\J= Lwcth = L (250t
=T (25h - )

—d\l-:_'-gr(zs-%l) =0 =D \n‘-fg-fj
= 5J3

T.e S 253 53’“)
\/ = 3(25 -l

50T 58% . 2603 .2
A 3 27

Fs

Answer:

The End.



